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15 |ppwlwbuwgnid (eTe])} : 22500 1,620,000
16 |NpbGwdwyhG fungnywylbin d=200d0 qoud 72.0 8500 612,000
17 [ptiGwdw)hG funnnywlllin d=150d4 q6ud 12.0 7500 90,000
IbLGwwwnh Eptiuywnnid upwytiptnhib ) 193.0
18 |uwibipny g | 29844 5,759,892
19 | Bp-2 100x10000 gwlgh nbnwnpnud 32 177.5 2500 443,750
3LGwwywwh tipbuwwnnd wnpwybpunhab ) 177.5
Spwybipinhit pwuwlltph wnbnunpaud 71.0
21 |h=5044 b=30ud qdu ' 11730 832,830
22 |tuGwhG hhigh hpwlwiwgnid h=12ud o2 35.8 650 23,292
Uwyph dwalh hpwlub-wgnud ) 35.5
23 |GwOpwhwwnhy WE h=3ud d ’ 2200 78,100
Pwquwnk 30x15 tiqnupwph wnbnunpnud
B15 nwuh hhiph phiwnbh dpw 71.0
24 q60 7500 532,500
3. Uunhdwltkp N
PULNUUL UThuUSULALEN -
1 [Pwquint uwibph pwlnnid o2 98.4| 4450 437,880
uwnhSwGGtpp hhd LunGh pwnnd
2 ﬁbmﬂ,hﬁm asrnaﬁfh prianth ptin g 454 | 28500 1,293,900
3|Pwquipnt pwuwlp pwhnntd 6l 56.0 1800 100,800
4 hwipwpuwpbinnGt hGuwwwwnh pwbnned e 146 19500 284.700
5 |3wnwuwywwnh hhdph pwlnnud i 23.5 28500 669,750
6{ChG. wnpp pwpdnud dtinpny w/h w 218.9 6500 1,423,003
wihnfunud nuywn 15 4d
7 inbwpounid Lgutiny 15 4 1 2189 4650 1,017,995




2nnwjhG wziuwnwbpibp 1 Ywpgh

apnibuinGbpndd tpu., pwpdnld hGpOwpwihh s 201
8 |Upw ) 550 11,055
tupwdnunnt thapnud 1 Juwpgh
annGunGlipnid dknpny, pwpdntd s 30.0
9 |hGpGwpwihh dpw ) 7700 231,000

gpniGuh ntinwihnfunud 1546 Upw,
wwhniuwn hivnwguw ogunwgnnéiwl 90.2

10 [hwiwp n 4650 419,337
UUShBULLENP LUNNESUUL UShuUSULRLEN -
UuwnpSwhGliph hhdgh pounnplininlb 26pwnh
hpwlwGwgntd B12.5 nwuh ptiwinlnyg N 38.80

11 ] 48500 1,881,800
Upwdaniy iphuppbuinGt wutnh8wbbbp s 280

12820 nwup k/ptunthg ) 1 99500.0 2,786,000

13 [UdpwG Alll nuuh wn 0.342 530,000 181,260

14 |Udpwl Al nuup n 0.241 530,000 127,730

15 |8/wyqwqgb pwnwfu h=3004d 92 104.0] 1700 176,800
UuwnhSwGGhph bpbuwwwnnud ) 81.3

16 |inpwipnhit uwibpny g ’ 32450 2,638,185
UUSPGULLGLRL 3ULNI UR bd QU
ILUMUSE,P LUNRNESUUL
uzhsusuueusr R
bGwwwwnh hhiph hpwwbwgnuip R 13.00

17 |§hwanty B15 quwuh pbinnGhg ] : 56200 730,600
I6Gwwwwnh hpwbh hpwlwbwgnudp s 6.60

18 [§hwaniy B15 nwuh pbnnbhg d : 57950 382,470
2 ztipn pudwépwhl onwdbkyniutugnid 28.6

19 o’ : 1850 52,910

20| Bp-2 100x10084 guligh nknwnnntd 2 37.0] 2200 81,400
eGwwwinh pbuywnntd npwybnunhib 37.0

21 juwnbipny g Yl 20844 1,104,228
Spwiytpnhat pwuwlitiph wnbnunpnd 27.0

22 |h=5004 b=45ud g4 : 11730 316,710

23 [36LUMUS L=11.04 ]

24 |Pwquunt pwuwlh pwinoid qdu 11.0 1890 20,790
huwipwpwpbnnbt hEnwuwinh pwlnnud 26

25 ¢ : 13820 35,932

26 |3ttnwwwinh hhdph pwinntd g 4.6 25000 115,000

27 |Chh. wnph pwpdnid wih n 15.8 650 10,278
ChGwnpeh wtnuwginfunid (gulnyn 15 4d

28 hEn. Jpw w 1581 4400 69,577
fupwdninne thapnud NI Jwpgh
gqpniOwnGhpnud abnpny, pupdntd 4.0

29 |hGpGwpwtihh dpw g 7500 30,000
qpniGinh wbnwihnfuntd 1540 Jpw,
wwhniuwn hbnwguw oquiwgnnpdiwb 7.2

30 fhwdwp n 4400 31,680
3bGwwwwnh hhdph hppwlyuwlwgnuip 4

31 |ghwanyy_B15 nwuh ptnntha g 2401 56200 134,880
36Gwwwinh hpwhp hpwlwlwgndp

32 |§hwany) B15 nwuh ptnnlhg g 6.20| 57950 359,290
2 Sbnun pulwdpwih0 ppwdbyniuw nud

33 2tpun pudwépuhl on g 2 22.0 1850 40,700

34 |PGwhnnbiph hGnwnwpd thge dtinpny gl 3.00 2,500 7,500

35| Bp-2 100x1004d gwligh inknwnnnid v? 6.6 2200 14,520
36Gwwwnh Gphuywwnnud npwytnnht

36 uw.t—.:riq nor 8 6.6] 20844 196,970




Spwybpunhib pwuwlGhiph wbnunpmad

37 |h=50d4d b=45ud qod 11730 129,030
Uhwdny bplwppbunnil wuinpSwGGbp

38|B22,5 nwuh E/ptnnGhg 8 14.01 99000 1,386,000

39 [UdpwG Alll puiup n 1.000 | 505000 505,000

40 [Uupwb Al nwuh ) 0.500 505000 252,500
4. Utkpphb guligkp
ikt inGunbiuwlwh ppdnun
Innuyhl wptuwnwlpbbin
[l ywipgh qpntGunh Gwlnud tpu., Ynnph

1 |ynunuiyting & 577.01 650 375,050

2 junylp® dkinpny §° 720/ 2750 198,000
IV qungh gpnilunp dzwyntd tpu., Ynnpgh

3 |uniowyting g 84.0)  gs0 79,800

4 |unylp dtinpny ¢? 12.0 4900 58,800
tupwdnune hwwnwlh b 2Ewtnh Gwppnud

5 |atnpny g 2001 4900 98,000
Lwhiwwwwnpwunwlwh 2pnh unbindnud
wywaphg 10 ud hwuwnnipjuip 63.0

6 Dl 5200 327,600

7 |Udwqh (hge funnndwlwzwph dpw g§° 168.0 5200 873,600

g8 |apnilunh tinhgp dtinpny 6 127.0 2500 317,500
Qnnihwnh htiinwnwpd |hgp pounnatipny

9 g 39300 210 82,530
UybigniywyhG gpntGunh pwpdnid b
nbnwihntuntd (guiniyn 15 Yd htin. Ypw 490.0

10 n 4,400 2,156,000
SEluGnnouwlwl wapuunnwbplbbn 0 -
Mnhtph kOt d=110d4 funnnwyh 635.0

11 |dnGuiwdnid )] ’ 3465 2,200,275
M htphi kG d=9004 funnndwyh 14.0

12 |dnbunwdnid d ' 2583 36,162
Mnghtphitilb d=2500 funnnyulh 234.0

13 |dnGuwdnid ) ) 950 222,300
Mnnuwuwnt tEynpwtinwygdnn 20.0

14 |d=159x4,500 funnnywyh dnGuwdne d : 13500 270,000
funnnywlh hwywynenghnb dtyniuwgnid 6.8

15 o? - 2100 14,243

16 |3wowlpgh hinpdwpynid qou 20.0 150 3,000
Pnipt unnlGulGtph dnGunwdnid d=8004d 20

17 hwun ) 8500 17,000
©nieb unnGuwylbph GnGunwdnud d=100d4 20

18 hww ’ 14850 29,700
Maqwuwwnt unnlwlGEph dnGunwdnid 2.0

19 |d=8044 hwn - 32000 64,000
Mnqwwwnb unnbwybbph dnbGuwdntd 50

20 |d=10044 hwwn ' 52400 262,000

21 [3wlwnwnd thwlywh dy=10044 hwuwn 10| 46300 46,300
Mnnwwwnb trwlgynn Ygwznipptinh
dnGunwdnud dy=1004d 4.0

22 hwuwn 14850 59,400
Mnnuwink brwygynn Ygwnipptinh 2.0

23 |dnGunwdnid dy=8044d hww ) 3980 7,960
Mnnuuwiinh wqww Ygwnippbph
dnGhwdnid dy=10004 9.0

24 hwun 8500 76,500




Mnnwwwnb wquwwn Yguwznipptph

tnbunwdnud dy=8004 2.0
25 hwn 8500 17,000
a4ncb dhwgnid (dnaHuesbin agantep)
26 |dy=10000 hwwn 8.0 3060 24,480
Aynil dhwgnild (Pnanueseiit aganTtep)
27 |dy=8044 hwwn 201 2380 4760
Quwynp dwubph wbnwnpnud G1000640
28 hwwn 400 3600 14,400
29 |dy=10000 a=90" wGy;nch hwuwn 1 6,500 6,500
30 [dy=100dd tnwpwpfuhg hwun 3 6.500 19,500
31 |Tiniptpp b0b dwubpp dnGuwdnid hwn 34.0 250 8,500
Tinthtph 60t wywing (sTynka) d=11044
32 huwin 9 950 8,550
33 |Mnihtph Gl wywng (eTynka) d=90d4d hwuw 2 770 1,540
M htph b0t d=11000 @=90° whlniGwyh 11
34 hwwn 730 8,030
Mnghtphitilit d=900d a=90" whlnGwyh 2
35 hwun 730 1,460
M htphitiGl d=1104d a=60" wilymbwyp 1
36 hww 550 550
TMn ptph kit d=904d a=60" whlniGwyh 1
37 hwuwn 400 400
Mnhteh kGl d=110d0d a=45" wlymbwyh 7
38 hwn 595 4,165
Mn(htph Gt Erwpwfuhlh OnGuwdnud, 1
39 [d=11040¢ hwn 1,310 1,310
Mnihtph kb d=110/260d gnunh Uhwgntd 8.0
40 hwwn ’ 3300 26,400
TnihtphleGt ©110/90 whgdwh 10
41 (dnGunwdnid hwin ' 1245 1,245
42 |3wdwlpgh thapdwpynid d=10084d qod 635.0 250 158,750
43 [3wdwyngh thnpdwpymy g=800d qdu 14.0 250 3,500
44 [3wdowlngh thnpdwplynid d=204dd q60 234.0 250 58,500
tunqnyuwyGiph (Jwgntd 0.631
45 |ywpwlwgbpdniinyd=100ud yad 150000 94,650
tunnnduyGbph (wgnid
46 qwgmiqunrlnﬁ:lnq d=801 Y 0.018] 150000 2,700
tunnnduwlobph Ywgned
47 uLurr}uJLtwqbnéntdnu d=25u1 yad 0.234 150000 35,100
wantd gnynipintG nilbignn q6hh
48 gl'm%m annte) gnn aoh ntin 1 25400 25,400
Jwywpnip t/pbnnbk Yinnp hnp&p 0 -
Ginn hwy. b/p YnGunpniljghwibinhg
49 di&aooo% hnr;;: mbmﬂnnmg g 0.5 33,790 16,895
50 [t/p nhunwhnp d=100084 hwwn 1 49,770 49,770
whnph uwy pnteb duningn
51 22?200,([112000}59 i o hwn ! 112,000 112,000
Ginp hwd. B/p GnGuwnpniyghwtinhg
52 |ara0008 beh e N 441 21,05 92,686
53 [G/p nhuinwhnp d=150004 hwwn 170,000 1,020,000
n ngn
54 22:;;8::20%;{]9 tob dunngnd hwwn 222,000 1,332,000
unnid
55 giﬁ@f#mﬁwwbnh e . n 0.336] 1130000 379,680
56 |Ptuinlt puwpdhy B7,5 nwuh ptinnlpg ¢° 0.20| 58000 11,600
57 |UtnwnwlwG fhokGunitph Gepynd 32 10.0{ 2500.0 25,000
2 U0wn-YGgwnw;ha Ynynigp ( K1) 0(.)0 -

Innuihl wzluwinwGplbn




i ungh gpaubinp Gawynad tpu., Ynnph

1 {ynunuwiybing D 802.0 650 521,300

2 |Lnylp’ dtrpny g? 89.0{ 2780 247,420
IV upgh gpniGwnp Gwlynud tpu., Ynnph 1870

3_|ynunwhbind g : 950 177,650

4 |Lnylp’ dtinpny bl 20.0] 4900 98,000
tupwdninnu hwwnwyh b 2bwbph dwppned

5 |atinpny ¢ 33.01 4900 161,700

6 |VI4wngh gpnibunh diiupbignid ¢? 42,0 25400 1,066,800
®tupbgywé gpmbnh dawlnid

7 |tpulwywinpny 5 4201 ggs 41,790

8 |VI4wngh gpniGnh hwpwowdnipsny g 20.0] 25400 508,000
Lwhiwwwinpwuwlwb 2Epnh vintindnid
wywqhg 10 ud hwuwnnipjwdp 43.0

9 g 5100 219,300

10 [Udwaqh thgp unnnjwlwawph Ypw o’ 154.0 5100 785,400

11 |QpniGinh bunthgp dkinpny §° 110.0| 1800 198,000
QpniGunp httwnwnd (hgp painngqtipny

12 g 804.01 350 281,400
UytiigniywyhG qpncbunh pwpdned b
nbnuihntunud (gulnin 15 Ya htn. Unw 558.0

13 wn 4,400 2,455,200
Stfulininqhuljwl wluwumubGplbp 0 -
Unynuant wnihtph b0 d=16000 funnnywlh 515.0

14 _|dnGuwdnid ) - 12500 6,437,500

15 [3wdwlpgh thnpdwplnid d=1604dd qéu 515.0 250 128,750
unynunnt wnhtph Gk d=2250d funnnywlh 91.0

16 [dnGunwdntd D) ’ 12000 1,092,000

17 [3wdwlpgh thnpdwpyntd d=22504 qéu 91.0 250 22,750
Tnnuuwwt tEhnpwbrwlgynn 13.0

18 |d=159x4,5ui lunnnywyh dnlunwdnLd ) ' 14500 188,500
funnndwih hwlwynrnghn dbkYniuwgnd R 6.5

19 d ' 4500 29,207

20 [3wdwypgh thnpdwpynid qod 13.0 250 3,250
Mnihtphi b0t d=16004 a=90" whlntlwlyh 20

21 jdinGuwdnid hwwn ) 21000 42,000
Nnhtph bt trwpw2tuhyh dnGuiwdnid, 20

22 |d=16000 hwwn ’ 24000 48,000

23 |PbunGb hbOwpwl B15 u° 0.20| 65000 13,000
Jwywpnyh t/ptnnll Yinp hnpbin 0 -
unp hwy. b/p ynGuwnpniyghwlGtiphg s 16.3

24 |3d=1000dd hnph wbnwnpnid d : 95,000 1,548,500

25 |t/p nhunnwhap d=100004 hwwn 32 85,000 2,720,000
Ahwtnwhnph uwy pnugt dwingny 32

26 |d=1200x120044 hwn 170,000 5,440,000
uinp hwy. b/p ynGuwnpmYyghwatiphg N 48

27 |[d=150008 hnph wbnwnpnid d ' 95,000 456,000

28 |t/p nwnwhnp d=150004 hwwn 4 120,000 480,000
hwwhnph uw pnigh dwingny 4

29 |d=1800x180044 hww 190,000 760,000
Uhwany| phiinnGt wedwlh wwinpwuwnnid ) 14.40

30 |B 15 nwuh ptinnthg g ) 95,000 1,368,000
Ubn. wuwnh8wiGbph wwnpwuwnnd b 1950

31 lnbnwnpnud wn ’ 1,120,200 2,184,390

32 [Ubunwnwlywb g okGwnbEph GEpynid 2 55.0 2,800 154,000

3.3tnknwinwyhl Ynynnh (K2)

Innuiht wtuwunwGplbin




1 yungh gpntlunh dwndd tpu., Ynnph

1_|ynunwybny g 1501.00 650 975,650

2 |Unylp® dtinpny i 143.0 2780 397,540
IV Qwpagh gpniGunp dwlyntd tpu., Ynnph

3 [ynunwltiny g 31500 950 299,250

4 |LnyGp® dtingny 6’ 350 4900 171,500
tupwininn hwnwyh L 2bwytiph dwpnnud

5 |atinpny g 60.01 4900 294,000

6 |VIywnah qpnilnp thupbignud O 12.0] 25000 300,000
®huptigqwéd gpntlnp Gawlnud s 12.0

7 [tpuljwdwwnpny ] : 950 11,400

8 (VI bwpgh gnpnibunh hwpdwéwdniptng 83 40| 25000 100,000
Lwhwwywupwunwlwt Epnh unbnénud
wywghg 10 ud hwuwnnpjwdp 77.0

9 bl 5800 446,600

10 [UJwgh thgp lunnnyuwljwawph Ynpw g® 390.0 5800 2,262,000

11 |SpnLbwnh binghgp dkinpny o? 209.0| 3500 731,500
apnLGuh hbnwnwnd thgp paynngbipny s 1298.0

12 a ’ 350 454,300
UytgnihwhG qpnilnh pwpdnid L
wnbnwihnfunid (gwlntjn 15 4d htin. §pw 1,126.0

13 n 4,650 5,235,900
Sttulingnqhwlywl wfuwunwlpbbin 0 -
Mnhtpptitb d=160404 funnnjwih 158.0

14 |dnGuwdnLd d ' 4985 787,630

15 [3wiwypgh thnpdwpynid d=160ud qéu 158.0 250 39,500
Mnihtph60E d=22504 funnnwlh 210.0

16 [dnGunwdmd d ' 7700 1,617,000

17 |3wdwlwpgh thnpdwpynid d=22504 qou 210.0 250 52,500
Tin htph titt d=25004 funnndwlh 585.0

18 |dnGwwdnid d : 14000 8,190,000

19 [3wdwlpgh thnpdwpyned d=25004 q6u 585.0 250 146,250
MnhtphtiGh d=315040 funnywlyh 410

20 |dnfnwdnid d ' 17000 697,000

21 [3wdwlpgh thnpdwplynid d=31504d qoud 41.0 250 10,250
Mnhtph Gk d=38500 funnywlh 32.0

22 |gnGunwdnid ] : 39000 1,248,000

23 [Rwiwypgh thnpdwpynud d=35544 qdu 32.0 250 8,000
Mnthtph kGt d=40004 funnnywyh 68.0

24 |$nGunwdnid g ’ 55700 3,787,600

25 [3wdwlypah thnpdwpynid d=4004dd qéu 68.0 250 17,000
Tnnuwwunb b EYunpwbknwygynn d=273x50d 6.0

26 {fungnwyh dnGunwdnid J ' 37800 226,800
funnnwlh hwhwynenghnG dEyniuwgntd ) 53

27 M ’ 4500 23,738

28 |3wdwlpgh thnpdwpynid q6U 6.0 250 1,500
Manwuwint b EGnpwbnwygynn d=426x501 60.0

29 |tunnnywlyh dnGunwdnid d ' 76158 4,569,480

20 funqnywlh hwywynernghnl dbyniuwgnid 2 80.3 4500 261163

31 [3wiwypgh ghnpdwplynmo qéd 60.0 250 15,000

32 |[Mnanuuwuwntb 6niby hwwn 1.0f 37950 37,950

33 |PbunnGh htGwpwh B15 g 0.40{ 58000 23,200

ny
34 t’ﬁi’:}aﬂ”&iﬁsh“‘ uanignid Shuwant, g 50.90| 97500 4,962,750
35 [UGaplplnniGhsh pnipt Swnwywlnwy ynow 34 65,000 2,210,000

10




Lwhwwwunpwunwlwo 26punh 6.60

36 |hpwhwlwgmd B 7,5 ' 45800 302,280
Rwhgnygh Yuwnenignd Shwdny] pbnnlng 11.00

37 |B15 ) 97500 1,072,500
UGapLwentiph htinwgiwh pnupt hwlgnyg 24

38 1380x6001d 95,000 3,230,000
Lwhiwwwnpwuwnwwhb 2bpuinh 225

39 |hpwlwlwgnuiB 7,5 ’ 45800.0 103,050
Jwywpmih t/pbuinGl Ynp hnpbn 0 ]
Yinp buwy. b/p YnGuwnnpniyghwtinhg 315

40 |d=100044 hnph nnwnpnud ) 75,000 2,362,500

41 [6/p nhinwhnp d=1000dJ 55 78,000 4,290,000
Qhwnwhnph uwy pnept dinngny 55

42 |d=1200x120004 150,000 8,250,000
Upwdnuy pinnGb wedwyh wwunpwuninud 29 50

43 |B 15 nwuh pliuinGihg . 95000 2,802,500
Ubw. wunpswhibph wwwnpwuwnnd b 2816

44 |\nbnwnpntd : 850000 2,393,600

45 |(Uivnwnwlwi b6dtGunGasph Gapynd 85.0 3500 297,500
Chnwukop 433614758.5
Cwhnyp 11 % 47697623.44
COnwadkop 481312381.9
u.t.3.20 96262476.39
Chnwikap’ 577,574,858

Mwumhpurnn Yuwyjwjunnt

22 Phuwlubkph Lwpwpupnippil
p- bphub, U.Ujwdjuwi-1
22 phbububbph bwiwpwpnipjul
woliunwlmquh gapdwnbwywl Jupynipynih
Z2/2 -900013202016, 900013574018
%FLZZ 02629081

«Uuthwljjuliphis PRC
p.Epuwl, Upwpunnjuiu-117/1
«2wphqubupwtily» PRC
2/2 1150000169370100
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